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 جد التكاملات التالية :  (1

 س . دس .2 – 2س3 ∫  - أ

 . دس .  2 –جتا س  ∫ - ب

 ( . دس .  2 – 3( )  1) س + ∫ - ت

 . دس . س  6+  س 2قا ∫ - ث

 . دس . 3+          ∫  - ج

 . دس .  3س + 8 – 2س3 ∫  - ح

 س ( . دس . 5 – 2س2)  2س ∫ - خ

 . . دس 2( 2 –س 3)  ∫ - د

 جتا س ظاس . دس .  ∫ - ذ

 . دس .              ∫ - ر

 ( ؟.  2فكم تساوي ق َ )  ،( .دس  3 – 2س2)  ∫اذا كان ق)س( =  (2

 . دس ، فإن قَ )س ( تساوي :  س2هــ  ∫اذا علمت ان  س =  (3

 ( تساوي :  1س . دس ، فإن ق َ ) 2 – 3س ∫اذا كان ق)س ( =  (4

  2( = 1، فجد قاعدة الاقتران ق)س( اذا علمت ان ق)  2س3اذا علمت ان قَ )س ( =  (5

6)  
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